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Module 13
Third Declension Nouns

Nouns

Nouns in Greek are defined just as nouns in English; but the way they create
meaning is different. As in English, Greek nouns (6vouata) refer to people,
places, things, and ideas. Greek nouns have endings. English nouns can change
form when they show possession, as in Jada’s book, where the ’s is added as a
suffix and indicates that the book belongs to Jada. English nouns also change
form when expressing the plural: two suns, three oxen, four mice. The endings
on Greek nouns, as we have seen previously, create the same meanings that
English does through form change, word order, and the use of prepositional
phrases.

Greek Nouns

In Greek there are three noun declensions: first, second, and third. In this text, the
third declension, also called the consonant declension, is taught first because it
offers the most complexity. Once you understand the third declension, it is easier
for you to learn the remaining two declensions. Learning the third declension
first also reinforces why the stem, the base to which endings are attached, is
taken from the genitive singular. Also by learning the third declension before
the other two, you will be less inclined to match or rhyme noun and adjective
endings when you modify a noun with an adjective.

Noun Sets 1-10

Since each Greek noun takes only one set of endings, this text numbers the
endings by sets 1-10. The aim in doing so is to make clear the correspondence
between one noun to which one set of endings is added. It is also a helpful way to
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refer to the endings when identifying nouns and discussing things like case and
function. The noun sets learned in this module are sets 9 and 10, so numbered to
maintain consistency across the traditional order of nouns of the first, second,
and third declension.

Noun Gender

Most nouns have only one gender: masculine, feminine, or neuter. Sometimes
the noun’s gender matches biological sex: 6 matnp father is masculine and 1
unitnp mother is feminine. At other times noun gender and biological sex do
not match: the noun t6 mawdiov child is neuter in gender. Occasionally the same
noun may have a common gender that depends upon biological sex: 6 0eo6g
god; | 0e6g goddess; | maig girl; 6 maig boy; 1) inm6g mare; 6 immog stallion.
The article, 0, 1}, 76, indicates the noun’s gender. ¢ indicates that the noun is
masculine. ij indicates that the noun is feminine and 6 that it is neuter.

Third Declension Nouns

All third declension nouns have a stem that ends in a consonant or an iota t-, or
upsilon v-. All third declension nouns use the same endings but for some nouns
the ending is disguised by ablaut, contraction, or quantitative metathesis. In
this module you learn the endings and also how to recognize them when they
are disguised. Unlike nouns of the first and second declension, the nominative
singular of nouns of the third declension varies. For this reason a blank, -,
is written for the nominative singular of these nouns. The gender of third
declension nouns that take set 9 endings is either masculine or feminine. The
gender of nouns that take set 10 endings is always neuter. The gender of third
declension subtype nouns is indicated within each paradigm.

Identifying Noun Sets

As already noted, the article, roughly equivalent to the English the, tells you the
gender of each noun. Most nouns have one gender, though occasionally a noun
can have the common gender of either feminine or masculine, i.e. it can be either
feminine or masculine. In lexical entries like the ones below, the nominative
singular form comes first. The genitive singular comes second and the article
third. From these three pieces of information you can identify each noun’s
gender and you can identify what set of endings any noun has. Remember that
each noun has only one ending set. By the end of Part I of the 21st-Century series
you will have learned 10 noun sets found in three noun declensions.



Nominative

ai€

dpxwv
gATtic
oua
dvAag
xapig

Genitive

alyog

dpxovtog
éAmtibog
oWHATOG
dvAakog
xbpLtog
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Article Gender Set #
oorn masc. or 9
fem.

0 masc. 9

N fem. 9

T0 neut. 10

0 masc. 9

N fem. 9

English Equivalent

goat

ruler
hope
body
guard
grace

Declining Third Declension Nouns

To decline third declension nouns, first get the stem by removing the genitive
singular ending -o¢. What remains is the stem, the base of the word the ending is
joined to. To the stem add the endings from either Set 9 or Set 10, in accordance
with what set the noun belongs to.

M/F Neuter
Set9 Set 10
S Pl S Pl
N -G N -a
A -aor-v  -0g A -a
G -0G -V G -0G -V
D -L -oL(v) D -L -oL(v)
A% -€G \Y -a
M/F Neuter
Set9 Set 10
S Pl S Pl
N -€G N -a
G -0G -WV G -0G -WV
D -L -oL (v) D -t -oL (v)
A -aor-v  -0g A -a
\Y -G \Y -a

1. For Set 9 the nominative singular varies, hence the blank, ---.
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2. The feminine and masculine accusative plural ending is -ag. Contrast it
with the ending -ag of the first declension, which you will learn soon.

3. In Set 10 the blank, -, indicates that the singulars of the nominative,
accusative, and vocative vary. For all neuter nouns, the singulars of
these three cases are identical to one another. The plurals of these
three cases are also identical to one another and the ending is an alpha,
-a.. Use context to determine what case each is in.

Consider the following third declension nouns and note how each declines.

dOAAE, dvAaKkog 0 guard *oua, cwuatog to body
aig, aiyog o or i} goat XGpLg, xaprrog 1) grace
€Atig, EAmidog 1) hope

For each noun, above the first form is the nominative singular, the second is the
genitive singular, and the third is the article.

Singular

N aig dpxwv EATTiG opa dLAAE XapLg

A atya dpyxovta EATtiSa odpa dvAaKa Xapv

G aiyog dpxovrtog éATtidog OWUATOG dLvAaKOG xéapltog
D aiyt dpyovtt EATTIOL owpaTtt dLAaxL xapitt
\% aig dpxov EATTL odpa dLAAE Xapt
Plural

N aiyeg dpxovteg EATTiGEG owpata dLAakeg XapLreg
A atyag dpyovtag €ATtibag owpata dvAakag xapLrag
G aty®v aApYovTWV EATTIS WV oWUATWV GLAAKWV xapitwv
D aigl (v) dpyxovot (v)  éAmioL (v) owpaot (v)  ¢vAAEL(V)  xaplot (v)
\% aiyeg dpxovteg EATTiGEG owpata bLAakeg XapLreg
Singular

N aig dpxwv EATTig olpa dLAAE XapLg

G alyog dpxovtog €AmtiSog oWHaTOg dvAakog XapLTog
D aiyt dpyovtt EATTLSL owpaTtt dLvAAKL xéprtt
A aiya dpxovta EATiSa olpa dLAaKa xapw

\% aig dpxov EATTL odpa dLAAE Xapt
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Plural

N aiyeg dpxovteg EATTiSeg owpata bV akeg xapireg

G aty®v apxovTWv EATIS WV OWHATWV duAaKwv xapitwv
D algl (v) dpyxovoL (v)  éArtioL (v) ocwpaot (v)  GUAACL(V)  xaplot (v)
A atyag dpxovtag éAmtiSag ocwpata dvAakag xapirag
\% aiyeg dpxovteg EATTiGEG owpata bV akeg Xapireg

1. Accent is persistent except that nouns with monosyllabic stems accent
the ultima in the genitive and dative, singular and plural. The genitive
plural has a circumflex, such as aiy®v. The others have an acute.

2. All 3rd declension nouns end in alpha in the accusative singular unless
their stem ends in -7, -18, or, -10 and the iota is not accented. In this case
the final consonant is dropped and the ending, -v, is added. Contrast
€Amtig, EAmiSa with xdapig, yapuv.

3. The vocative singular is the same as the nominative singular if the
nominative singular ends in -§ or -¢ or if it ends in -v or -p and accents
the ultima. Otherwise the vocative singular consists of the stem minus
the final tau, delta, or theta (1, 8, 0), called dentals because the tongue
touches the teeth when making the sounds that these consonants
represent. Examples of the former are ai§ and Awuijv and of the latter
are €Ami. In all neuter nouns the vocative singular is the same as the
nominative singular.

4. The dative plural ending —-ot (v) is combined with third declension
stems ending in consonants in accordance with the following:

T, B, ¢ + -otL = -PL

KV, X + -otL = -&L

7, 6,0 + -otL = -0l

% + -otL = -0l

o] + -otL = -0l

-avT- + -ol = -aot

-EVT- + -0l = -eLaL

-0VT- + -oL = -0uoL

A + -0l = -AcL (no change)

p + -0l = -pot (no change)
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5. When -avt-, -€vt-, and -ovt- are combined with the ending -1, the nu
and tau, -vt-, drop out and a long vowel or diphthong appears by a
process called compensatory lengthening. A diphthong that results
from compensatory lengthening is called a spurious diphthong. Look
carefully at the following dative plural nouns:

atyot (v) becomes ai&t (v)
dpyovtol (v) becomes dpyovat (v)
éATtiSoL (v) becomes éAmtiol (v)
owpatat (v) becomes owyaot (v)
dvraxat (v) becomes dUVAASL (V)
xbaplrot (v) becomes xaplot (v),

noting how the letters combine and the form changes.

Four Subtypes of Third Declension Nouns

All third declension nouns use the same endings, but for some nouns the ending
has been disguised by ablaut, contraction, or quantitative metathesis. Do not
plan on memorizing each of the four subtypes, though you may find memorizing
the contractions helpful. Do memorize the endings of sets 9 and 10. Use your
knowledge of the endings of sets 9 and 10 to recognize the subtypes and case of
each noun.

1) Subtype 1 Nouns with Stem Ending in p- or £p- (ablaut):

Feminine Masculine
S Pl S Pl
N ufTnp UNTEPES N avip avspeg
A untépa untépag A avépa dvépag
G untpég unTépwv G avspog avspdv
D untpli untpaat (v) D avépi avépdat (v)
\% ufitep UNTEPEG \% Gvep av8peg
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Feminine Masculine
S Pl S Pl
N unTnp UNTEPES N avip av8peg
G UnTpPOg UnTéPWV G avdpog avspv
D untpi untpaat (v) D avdpi avdpdat
A untépa unTépag A avépa avépag
Vv ufjtep untépeg A avep avépeg

1. unTnp uses two stems: untp- and untep-. Ablaut (vowel variation) in a
stem is observed in these two forms: ufjTnp and untep-. Ablaut (vowel
variation) is a regular feature of languages. Note the vowel variation in
these forms: sing, sang, sung and ring, rang, rung.

2. In the genitive and dative singular of uftnp, the stem is monosyllabic
and so the accent shifts to the ultima: untpog and untpi.

3. In the genitive and dative singular of é@vrp, the stem is monosyllabic
and so the accent shifts to the ultima: av8pog, avépi, and avSpmv.

4. In the dative plural the rho -p-, has expanded to -pa-.

5. Nouns that end in -np, like Quydtnp, Tatip, and yaotrp, decline like
uftnpe not avrp, whose stem differs slightly.

6. Compare and contrast these Subtype 1 Nouns with the noun cwTtijp
savior, noticing that it has one stem, cwTip.

N owmp OWTRPES

A owThipa owThpag

G owTtfjpog oWTNPWV

D owtipt owTtipot (v)
V  owmp OWTAPES

N owtmp OWTAPES

G owTipog oWTAPWV

D owtipt owTipot (v)
A owTipa owThpag

V  owtp OWTAPES

2) Subtype 2 Nouns with Stem Ending in o- (ablaut, contraction, and
disappearance of intervocalic sigma, -6-):
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Neuter Nouns Ending in —og: yévog race

S Pl
N Yévog Y€VeQ, yévn (eca)
A yévog yévea, yévn (eca)
G yéveag, yévouc (€50G) YEVEWYV, YEVDV (ECWV)
D yével (eol) yéveal (v) (eoat (v))
v yévog Yévea, yévn (eca)
S Pl
N yévog Yévea, yévn (eca)
G yéveag, yévouc (€50G) YEVEWYV, YEVDV (ECWV)
D yével (eol) yéveal (v) (eaat (v))
A Yévog Y€évea, yévn (eca)
v yévog Yéveq, yévn (eca)

1. The stems are yevoo- and yeveo-.
2. The letters in parentheses indicate where intervocalic sigma has
dropped out: egoL > -gat, etc.

3. IntheIonic dialect after sigma dropped out the vowels did not contract.

4. In the Attic dialect after sigma dropped out the vowels did contract: ea
>1; €0 > 0V; €W > w. For a list of contractions that occurred, see CGCG
1.63.

5. Similar nouns are @Ayog pain; €mog word; €tog year; kpatog might;
and telyog wall.

Neuter Nouns Ending in —ag: yijpag, old age

S Pl
N vyipag ynpaa, yfipa (aca)
A yiipag ynpaa, yipa (aca)
G ynpaog, ynpwe (acog) ynpawv, ynpav (acwv)
D ynpai, ynpg (acu) yfipaat (v) (aoot (v)
v yiipag yipag, ynpa (aca)
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S
yiipag

yNnpaog, ynpws (acog)
ynpai, ypa (acy
yiipag

yiipag

< » O o Z

1. The stem is ynpao-.

Pl

ynpaa, yfipa (aca)
ynpawv, ynpav (acwv)
yipaat (v) (aoat (v))
ynpaa, yfipd (aca)

ynpag, ynpa (aca)

2. The letters in parentheses indicate where intervocalic sigma has

dropped out.

3. IntheIonic dialect after sigma dropped out the vowels did not contract.

In the Attic dialect after sigma dropped out the vowels did contract: aa

> @; ail > q; 00 > w; aw > w. For a list of contractions that occurred, see

CGCG 1.63.

5. The noun yépag gift of honor declines like yijpag.

S
N TPUPNS
A TP pEQ, TP PN (E0Q)
G TPUPEDS, TPUIPOLG (£50G)
D TpUpeL (eov)
\ TPLPES
S
N TPUPNG
G TPUYPEQS, TPUIPOLG (€00G)
D TpUpeL (eol)
A TpUpEY, TP PN (E0Q)
\ TPLPES

1. The stem is Tpunpec-.

Feminine and Masculine Nouns Ending in ng-: tpujpng trireme

Pl

TPUPEES, TPLNPELS (E0EC)
TPUIPEMS, TPUPELS (E0TG)
TPUPEWY, TPLPWY (E0WV)
P peat (v) (eooLv)

TPUIPEES, TPUPELS (EEG)

Pl
TPUIPEES, TP PELS (€0EC)

TPINPEWY, TPUPWY (E0WV)
TpLpeot (v) (ecowv)
TPUIPEAG, TPLPELS (E50C)
TPUIPEES, TP PELS (€0EG)

2. The letters in parentheses indicate where intervocalic sigma has

dropped out.

3. IntheIonic dialect after sigma dropped out the vowels did not contract.

155




156 Ancient Greek |

4. In the Attic dialect after sigma dropped out the vowels did contract: ea
>N ; EE> EL €0 > OL; EW > W.

Proper Nouns Ending in ng-: Zwkpatng Sokrates

S Pl

N LZwkpltng LwKpateeg, LwKpaTeLS (E0€Q)

A LwKPATEQ, ZwKPATH, ZwKpaty  LwKPATEAS, ZwKPATELS (e00()
(eoa)

G ZwKpATeOS, ZWKPATOLE (E00C) LZwKpATéWV, ZwKpATWY (E0WV)

D LZwxkparel (eov) Lwkpateol (v) (eoow)
LZwKpPATES LwKPATEES, ZWKPATELS (E0EQ)
S Pl

N Lwkpatng LwKPATEES, LWKPATELS (E0EC)

G LwKpATENS, LwKpAToug (€604) LZwKpATEWV, ZWKPATWY (E0WV)

D Zwkpartel (eoy) Lwkpateol (v) (eoow)

A LwKPATEQ, ZwKpaTn, Zwkpatny  LwKPAteag, LwKpateLls (ecag)
(ec)

v LZwKpateg LwKPATEEG, LWKPATELS (E0€EC)

1. The stem is Zwkpateo-.

2. The form Zwxkpatnv occurs by analogy with the accusative singular of
first declension nouns.

3. The letters in parentheses indicate where intervocalic sigma has
dropped out.

4. Inthe Ionic dialect after sigma dropped out the vowels did not contract.

5. In the Attic dialect after sigma dropped out the vowels did contract: ea
> 1); €€ > €L; €0 > 0V; €1 > w. For a list of contractions that occurred, see
CGCG 1.63.

6. The nouns Awoyévng Diogenes, IlepwkAilg Perikles, and ZodOKARG
Sophokles decline like Zwkpdtng.

3) Subtype 3 Nouns with Stem Ending in (- (ablaut, contraction, disappearance
of intervocalic digamma, -F-, quantitative metathesis):
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Feminine

S Pl
N TIOALG TOALES, TTOANEG, TTOAELS (EFEQ)
A TOAVY TOALAG, TOANAG, TTOALG, TTOAELS
G TIOALOG, TTOANOG, TTOAEWG TIOALWY, TTOAEWV (EFWV)
D TIOALL, TTOAL, TTOANL, TTOAEL (EFL) ToAleaal (v), mTOAeaL (V), TOALGL (V)
v TTOAL TOALES, TTOANEG, TTOAELS (EFEC)

S Pl
N TOALG TOALES, TTOANEG, TTOAELS (EFEQ)
G TIOALOG, TTOANOG, TTOAEWC TOALWYV, TTOAEWYV (EFWV)
D TIOALL, TTOAL, TTOANL, TTOAEL (EFV) nioAteoal (v), moAeat (v), moALaL (v)
A TOALY TOALAG, TOANAG, TIOALG, TTOAELG
v TTOAL TIOALEG, TTOANEG, TTOAELS (EFEQ)

1. The stems are TOAEF-, TOAL-, and moAn-. Note the ablaut (vowel
variation).

2. In the underlined vowels of the forms méAnog and ToAewg, quantative
metathesis (an exchange of vowel quantity) occurred.

3. The letters in parentheses indicate where intervocalic digamma has
dropped out.

4. The accent of the form méAewg reflects the accent of the earlier form
moANnog before quantitative metathesis occurred.

5. Contractions occur in moAet (efy) and OAeLg (€FeC): €L > €L; €€ > €L

6. The accents of the forms méAwwv and méAewv are likely by analogy
with méAewc.

7. The accusative plural moAerg is either a later form modelled on the
form of the nominative plural méAeg or is built on the stem moAe.

8. In the Ionic dialect after digamma dropped out the vowels did not
contract.

9. Inthe Attic dialect after digamma dropped out the vowels did contract:
ee > el For a list of contractions that occurred, see CGCG 1.63.

10.The nouns Svvapig power, OBpiLg brutality, moineig poetry, Avoig
release, mpa&Lg act, uavtig seer, and 6dLg serpent decline like TOALG.
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4) Subtype 4 Nouns with Stem Ending in nu- or nf- (contraction, disappearance
of intervocalic digamma, -F-, quantitative metathesis):

Masculine

S Pl
N Baoievg (nug) BaolAfeg, PaotAfg, BactAels (NFeg)
A Baowija, paciiéa (NFa) BaoAfjag, Baciréag later BactAglg (NnFag)
G BaoAijog, BaocAéwg (NFog) Baoc\wv, BacAéwv (NFwV)
D BaoAijL, BacAel (NFU Baowebat (v) (nuot (v))
\% Baowred (nv) BaotAfieg, BactAiig, BaclAelg

S |
N Baoweng (nug) BaotAfjeg, PactAilg, BactAgls (NFeQ)
G BaoAfjog, BacAéwg (NFog) Baoc\wv, BacAéwv (NFwV)
D BacAijL, BactAel (NnFU Baowebal (v) (nuot (v))
A Baocwfa, Bacriéa (nFa) Baowifjag, Bacréag later BactAglg (NFag)
A BacAed (nu) BaolAfeg, BaclAflg, BactAelg

1. The stems are BaciAnu- and BactAnf-.

2. In Bacwrevg and Baciiedol (v), the stem is shortened from BaciAnu-
to BaciAev-.

3. In the underlined vowels of the forms BaclAfjog and PaciAéwg
quantative metathesis (an exchange of vowel quantity) occurred.

4. Intervocalic digamma, -F-, has dropped out.

5. In these instances where intervocalic digamma, -F-, has dropped out,
quantitative metathesis occurs -no > -ew; -na > -e@; -nw > -ew; and -na
> -ga.

6. Contractions occur in BactAel (NFv, BaciAilg (NFeg), and Pacligig
(€F€Q): NL> N > €L; NEG > NG; EEC > ELG.

7. The accusative plural BaciAeig is a later form modelled on the form of
the nominative plural BaciAeig, which developed after BactAijg.

8. In the Ionic dialect after digamma dropped out the vowels did not
contract.

9. In the Attic dialect after digamma dropped out the vowels did contract:
nL>n > €y neg > ng; €eg > €16. For a list of contractions that occurred,
see CGCG 1.63.
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10.Similar nouns are intmevg horserider, yaAkevg metal-worker, IIpwTevg
Proteus, Axapve¥g, Akharnian.

Practice Identifying Third Declension Nouns. For the nouns below, tell
whether the noun takes set 9 endings, set 10 endings, or declines like one of
the four subtypes of third declension nouns. To succeed, you need to identify
correctly the gender and the nominative and genitive singular, matching each
with the correct set or subtype.

Noun Set or Subtype
YLV}, yuvatkog 1} woman, wife set 9
Svvapuig, suvauiog (Suvaunog, Svvauewcg) | power TOALG
“EAANV, "EAANvVOG 1 0 Greek set9
€70¢6, £1€06 (ETOULG) TO year yévog
inmevg, inmijog (Lmméwg) 6 knight, cavalryman Baoietg
uépog, uépeog (uépovg) t0 share, portion, part; limb Yévog
dvopa, 6vouartog t6 name set 10
ma0og, Tabeog (TaBouG) 1O suffering; experience; emotion yévog
maig, Todog 1 0 child set9
Tatip, TaTpog o father uATnp
AR 00¢, TANO£0G (TTA}B0VC) TO great number yévog
nplyua, Tplynatog té matter, thing, affair; problem set 10
npagLg, mpagLog (mpagnog, mpagewg) N action TOALG
odua, cwpartog toé body set 10
Tel0G, Teixeog (teiyovg) t6 wall; (pl.) stronghold yévog
TéA0g, TéAeog (TéAovg) T6 end, boundary yévog
ovoLg, dvoLog (dVoNog, dVoEWC) 1) nature TOALG
xapug, xaprrog ny charm, grace, favor set9
XPiua, xprinatog o thing; (pl.) wealth set 10

Practice Understanding Adjective and Noun Agreement. Pick the article that
agrees in gender, case, and number with the nouns below. Note that to perform
this exercise correctly you must know both the gender and the case of each
noun. To determine a noun’s gender you may cut and paste the noun into the
search bar of the PDF, you may look the noun up in the glossary in this text,
you may use the online resource, Logeion Lexicon, or Wiktionary! or you may

1  https://logeion.uchicago.edu/lexidium
https://en.wiktionary.org/wiki/%CF%86%CE%B7%CE%BC%CE%AF



https://logeion.uchicago.edu/lexidium
https://en.wiktionary.org/wiki/%CF%86%CE%B7%CE%BC%CE%AF
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use any resource that gives you the correct gender of nouns. To determine the
correct case, use your knowledge of stems and endings. Check your answers
with those in the Answer Key.

Article that Agrees Noun Article that Agrees Noun
avip TaBeL
Baocwéa TG
yévog natnp
yuvnp TIAR 60¢
Ala TOAEWG
Suvapewg TIOALTNG
“EAANnvog nipdypa
étel owpaot (v)
i Teiyovug
uépn dvowv
uNTPoS XOPLTES
vavot XELPOV
ovouaat (v) xprnuata

Helen

Born to Leda and to Zeus, Helen has three siblings: Klytaimnestra, Kastor, and
Polydeukes. Helen and Polydeukes (aka Pollux) are said to be the children of
Zeus and Leda, the wife of Tyndareus, whom Zeus seduced after taking the form
of a swan. Kastor and Klytaimnestra are the children of the mortals, Tyndareus
and Leda. Helen is cited as the reason why the Greeks fought the the Trojan
War, whose cause dates back to a time when the gods and goddesses were
celebrating the wedding of the mortal Peleus to the goddess Thetis. All divinities
were invited to the wedding except for Eris, the goddess of discord and strife.
She attended anyway and threw a golden apple amidst the guests, announcing
that it belonged to the most beautiful. Zeus’ wife Hera claimed the apple as did
Athene, goddess of war and crafts, and Aphrodite, goddess of love. Each goddess
thought she was the most beautiful and should be given the golden apple. Zeus
turned the matter over to the Trojan prince, Paris (aka Alexandros) who presided
over a beauty contest, referred to as the Judgment of Paris. Each goddess offered
Paris a bribe. Hera offered him world dominion; Athene offered him martial
excellence; and Aphrodite offered him Helen, the most beautiful woman in the
world, though she was already married to the Greek king Menelaos. Paris chose
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Aphrodite and Helen. He sailed to Greece and took Helen from her home. She
either went willingly, went against her will, or was sent to Egypt with a phantom
Helen taking her place in Troy and in Paris’ arms. Menelaos and his brother
Agamemnon assembled an army of Greeks, charged with going to Troy to take
Helen back. In Euripides’ play, Helen (EAévn), Helen has been in Egypt for the
ten years of the Trojan War when her husband Menelaos arrives, shipwrecked
on his journey home from Troy.

Practice Translating. Translate the sentences below, which are adapted from
the prologue of Euripides’ Helen (EAévn). Remember the meanings and functions
of the cases presented in Module 7. Nominative case endings are bolded;
genitive endings are italicized; dative endings are highlighted; and accusative
endings are underlined. Note that the third declension increases the number of
possible endings for the nominative singular. Check your understanding with
the translations in the Answer Key. Now go back and read each sentence two or
three times, noticing with each rereading how much better your understanding
of the sentence becomes. Make this a habit and you will improve quickly.

Case Endin Function

Nominative -a, -0, -€vg, -N, -NG, subject of the verb
-G, -0, -0G

Genitive -EWG, -NG, -0V, -0G, possession, dependence, object
-0UG, -WV of a preposition

Dative -, -L, -0L, -0LG, - indirect object of the verb;

possession

Accusative -a, -06, -€, -€a, -, -nv,  object of verb or preposition and

-V, -0V, -0G motion toward

‘EAévN: AGY0G OTL ZeLG KUKVOU popodwuata Aaufavel kat Andav
méteTal ei¢ uNv unTépa. dvoud & éott éuol EAévn kal & 8¢ maoyw
Kok, Aéyw Tol¢ EAAvOLG. EpyovTal ai Beal kaAAovg TépL ig I8aloy,
"Hpa, Kumpig te mapbévog te. ai Oeat popdic ¢8éhoval Slamepaivelv
Kpilow. Kumpig vikael kai €uov kdirog AAEEav8pl Sibwaov. ¢k 8¢
T8aiov Aeimel IIdpig Kal eig Zmaptnv kel Kal BovAeTaLl EuoV Aéxog
éxew. "Hpa 8¢ pépdetal 6T ov vikael Tag Oedg Kal EEaveOEL Epa
ANeEAVEpW Agxn. “Hpa 6¢ 8i8wal oy gue GAN’ opoLdel gpol e{lbwiov
Kat ovpavol couvtiBnow &ro. T 6¢ Alog¢ BovAsvpata TOAEUQV
elodepet EAMvVwV xBovi kal @puél. 0 §& Zeg fovAeTal dxAov BpoTdv
mANBe0¢ TE KOLPICey unTépa x0Ova Kai yvwtov TiBéval AYIAAEQ.
AauBavel 8¢ ¢ug Epuiig kai vedEAn KaAvmTeL Kai €ig oikov ITpwTéwe
i5pueL
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Verbs
*BovAopar want, prefer; wish, be
willing

Swamepaivw bring to a conclusion,
discuss

*§idwut give; diknv idwu I pay the
penalty; 8idwuw yapuwv I give thanks

*eiul be, be possible

eiodépw bring, bring upon

*¢0¢Aw (0éAw) wish, be willing

€Eavepow fill with air, inflate

*g¢pyouar come, go

*&xw have, hold; be able + inf.; kaA®dg
€xew to be well

*fikw have come, be present

idpvw place

Kovdilw be light; lighten, make light
%’ in acc. of v’ in gen.; lift up, raise

*AauBavw take, receive, capture

*Aéyw say, tell, speak

Aeintw leave

uéudopnar blame, criticize, find fault,
complain

VIKAaw win, conquer

opoLow make X’ in acc. like ‘y’ in the
dat.

*naocyw suffer

métouad fly

ouvTiOnuu put together

*t0¢van to make

KAAUTTW hide *ciOnue put, place
Adjectives, Nouns, Pronouns

Nominative Genitive Dative Accusative English
Equivalent

@ v olg & what

AAéEavépog AAetavSpou ANECavSpL AXNEEavSpov Alexandros, Paris

AY1AAeVg AxUAEwG AxUAAel AxuAAéa Akhilleus

*aoTtn avTiig avTi avTnv she, her, hers

*a0TOG avTtold avT® a0ToOV he, him, his

BovAsvpata BovAevpatwv BovAevpaot BovAevpata will

Bportoi Bpot®v Bpotoig Bpotovg mortals

YVWTOG yvwtol YVWT® yvwTov known, famous

eidwiov eldwAov eldLAW eldwiov image, idol

‘EAévn ‘EAévNg ‘EAévN ‘EAévnv Helen



Nominative

*EAANVOL
*eua
*£uov
Epuifg
*Ze0g
“Hpa
*Qeal
‘ISaiov
*Kaka
KAAAOG
Kpiowg
KUKVOG
Kompig
ARda
Aéxog
Agxn
*Adyog
*uqTnp
nopon
popowuata
vEDEAN
oikog
*Gvoua
ovpavog
OxAog
TapOévog
Iapig
*Aij6og
*TOAENOG
IMpwTetg
Zmaptn
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Genitive

EAARvwv
Eudv

éuod

‘Epuod

ALO6G

“Hpag

Beyv

T8aiov
KAK®OV
KaAAEOG
Kploewg
KUKVOU
KompiSog
Andag
A€XE0G (-0UC)
AEYWV

AGyov
HNTPOg
HOpOIG
HopdwuaTwv
vehEANg
oixov
0vVOUaTog
ovpavod
6xAov
napBévou
I&p1Sog
mAn0eog (-oug)
TIOAEUOV
IIpwtéwg

LnapTng

Dative

‘EAAvOLg

éuoig

EUQ

Epuil

Al

“Hpa

Bealg

T8aiw

KAKOIGg
KAAAEL
kploeL
KUKV
KOmpSt
Anda
AEXEL
Aéxeat (v)
AOyW
HnTpl
HopoR
puopdwuaat
veDEAD
olkw
ovopatt
ovpavy
OxAw
TapOEvVw
I&pLSL
AN BEL
TIOAEUW
IIpwTetl

Inaptn

Accusative

‘EAAvoug
ud

€uov
Epufv
Ala
“Hpav
Beag
T8aiov
Kok
KAAAOG
Kpiow
KUKVOV
Kompw
Andav
AEXOG
Aéxn
AGyov
HNTEPa
Hoponv
popodwuata
vedpéAnv
olkov
dvopa
ovpavov
OxAov
napBévov
Méapwv

A 00g
TIOAEUOV
IIpwtea

Lmaptnv
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English
Equivalent

Greeks

ny

nmy

Hermes

Zeus

Hera

goddesses

Mt. Ida

evils

beauty

judgment, trial
swan

Aphrodite

Leda

bed, marriage-bed
bed, marriage-bed
word, story
mother

form, shape, beauty
form, shape
cloud

house, palace
name

heaven, sky
crowd, throng
Athena, maiden
Paris, Alexandros
great number
war

Proteus

Sparta
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Nominative Genitive Dative Accusative English
Equivalent

dpoyeg Dpuy®dVv Dputi (v) dpuyag Phrygians

X0®v x0ovog x0ovi x8ova earth, ground

1. Theasteriskindicates the top 250 most frequently occurring vocabulary,
which you are to memorize

Practice Parsing Greek Sentences. Parse each word of the sentence found
below. For nouns and pronouns, give case and function. For verbs, give person,
number, tense, mood, and voice. For adverbs and conjunctions, identify them.
For prepositional phrases, give the preposition and the preposition’s object. For
adjectives, tell what noun they agree with in gender, number, and case.

Ta 8¢ ALog BovAevpata moAepov eiodpépel EAAVwY xBovi kai ®puti.
Check your answers with those in the Answer Key.

Module 13 Top 250 Vocabulary to he Memorized. Like learning the alphabet
and endings, memorizing vocabulary is essential to acquiring language. The
better you memorize the top 250 most frequently occurring vocabulary words
the greater mastery of the language you will have.

Nouns

avnp, avdpog 6 man, hushand

BaowAetg, BacAijog (BaoAéwg) 6 king, chief
yuvi, yuvatkog | woman, wife

Svvaulg, duvaupog (Suvaunog, duvauewg) 1| might, strength, power; force,
army

"EAANV, "EAANvOG 1| 0 Greek

vnig (vadg), vedg (vewg) iy ship

Tatg, matdog 1) o child

Tathp, TaTpog o father

TTOALG, TOALOG (TTOANOG, TOAEWG) 1) City

Verb

uéAAw be about to, be going to; be likely to + inf. (fut. inf. in Attic)

1. The noun vadg is similar to the third declension noun BaciAetg.
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vnog, valg VEeg, vijeg (vijFeg < vaFeg)
véa, vadv (vadv) vijag, véag, vadg

VEOG, VEWG (VNFOG < VaFog) VEDV (VNF®V < vag®v)
vnti (vnFt < vafd vnuat, vavot (v) (vawot (v))

vad VEeg, vijeg (viFeg < vaFeg)
vnOg, vadg VEeg, Vijeg (VAFeG < VAFeQ)
VEOG, VEWG (VNFOG < vaFog) ve®v (VNF®V < vag®v)
wnt (vnri < vaFd vnuoi, vavot (v) (vawat (v))

véa, vadv (vadv) viag, véag, vatg

vad VEeg, Vijeg (VAFeG < VAFeQ)
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Etymology Corner Xl by Dr. E. Del Chrol

Technical Terms 9, Parts of Speech

Subordinating Conjunctions, Module 5. The word subordinate is built from the Latin
prefix sub- below, under and noun ordo row, order, rank. A subordinating conjunction
ranks one clause below the other clause, linking a dependent to an independent clause
(similarly a submarine (E marine < L. mare sea) goes under the sea. So, what does
independent (in not, de down from, and pendere to hang down) mean? Pendere to
hang down conveys the meaning of hanging in the way a pendulum hangs and swings
or a pendent is a piece of jewelry that hangs from a chain. The prefix de- means
down from. The prefix in- not negates dependent and functions just as the Germanic
prefix un- does for Anglo-Saxon words, like uncool (cool < OE col < a Germanic root).
Your kids, while they still rely on you for sustenance, are metaphorically hanging off
you. I always think of sloth babies' (follow the link to see a picture). Once your kids
come of age and can (or at least should be able to) take care of themselves, they are
independent, or literally, not hanging off of you anymore. A clause, a combination of
a verb with a subject, is a contained entity, or something that is complete and closed
(claudere, the root of both English words clause and closed). A clause has the sense
of distinct, closed off from the other parts of the sentence. Clauses are like kids. If they
can stand on their own, they are independent clauses. If they rely on another clause
to complete their meaning, they are dependent clauses.

1  https://www.google.com/search?g=sloth+babies+hanging+on+mother



https://www.google.com/search?q=sloth+babies+hanging+on+mother&tbm=isch&ved=2ahUKEwj9oee6gpfuAhUJAp0JHeV0BfAQ2cCegQIABAA&oq=sloth+babies+hanging+on+mother&gs_lcp=CgNpbWcQAzoECAAQHjoGCAAQBRAeOgYIABAIEB5QmFJYx2Vg5mZoAHAAeACAAVOIAaYJkgECMTiYAQCgAQGqAQtnd3Mtd2l6LWltZ8ABAQ&sclient=img&ei=ten9X73zDomE9PwP5emVgA8&bih=2010&biw=1333&rlz=1C1GCEU_enUS819US820&safe=off#imgrc=vn5zsmYcYd3LDM
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What to Study and Do 13. Before moving on to the next module, make sure that you
have memorized ending sets 9 and 10 for third declension nouns and that you can
decline third declension nouns. Your main focus should be on committing ending sets
9 and 10 to memory. In order to remember these endings for the long term, review
them a few times each week. When reviewing, make sure that you can write them
out from memory without looking at the answers. Plan on reading this module two or
three times. On each read your understanding will improve.

Learning Tip 13: Stress is Normal. Continuous learning requires analysis, logic, and
memorization. Discontinuous learning involves ambiguity, creativity, and reframing.
As you are presented with a novel concept, such as a completely different system of
communication, you experience ambiguity and discomfort because you are required to
assimilate new factual information (endings and vocabulary) and to think differently
about this information from how you have done before. This process can be stressful.
Remember that this stress is normal. Accept the difficulty and continue to work at
understanding the new information. Using memory techniques can help to ease your
stress. Of all the memory strategies used by expert memorizers, the memory palace
is the one they employ most frequently. This textbook offers several variations on the
memory-palace technique. The first variation is based upon your car. Let’s say you
want to memorize the preposition and adverb éva (prep.) on, upon, onto + gen. or dat.;
up to, throughout + acc.; (adv.) thereon, thereupon, throughout. We start at the car’s
grille. I picture Anna Karenina standing on or upon the car’s grille. Anna reminds
me of @vda. Anna’s standing on or upon the grille reminds me of the meanings on or
upon. Anna steps from the grille onto the hood. On the windshield is a case of Genesee
beer and a bowl filled with dates. The Genesee beer and the bowl of dates remind
me that when @vé means on, upon, onto, it takes the genitive or dative case. Next
Anna Karenina drives the car up to a river in the park. She takes a picture and then
drives throughout the park. As she drives throughout the park, she sees a policeman
pointing an accusing finger at her. The policeman’s accusing finger reminds me
that dva takes the accusative case when it means up to or throughout. Picture the
events happening in real time, and feel the heat of the policeman’s accusing finger
directed at Anna. Anna adds a verb of declaration to the scene. She declares thereon
or thereupon that throughout she has been innocent. She quickly departs the park
and drives up to the garage and away from the accusing finger of the policeman.
When she arrives she sits on or upon the grille of the car and then steps onto the hood
where she drinks a Genesee beer and eats a date from the bowl. The car can be one of
many different memory palaces you use in order to remember information you want
to recall precisely. The memory technique still requires repetition and review. As you
improve at using this technique, you will find your ability to remember accurately
also improves




